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2008-09 District Competition

Match #2 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
It can be ‘sour’ if it contains sulfur, and ‘sweet’ if it does not. It is classified as ‘heavy,’ ‘intermediate,’ or ‘light’ based on its viscosity. Brent and West Texas are benchmarks of what substance that is refined into plastic, asphalt, fuel oil, and gasoline? 

ANSWER: crude oil (prompt on ‘oil’) or petroleum
2.
It originally sold the Image Computer and started as the Graphics Group, a division of Lucasfilm. In January 2006, Disney bought this studio from Steve Jobs for $7.4 billion. What animation studio made Toy Story and Ratatouille? 

ANSWER: Pixar
3.
Pick up your buzzers – now, consider the sentence, ‘The students who had failed the test felt bad.’ What is the appositive phrase in that sentence?


ANSWER: who had failed the test
4.
Not even 1,000 square miles in size, the Moselle valley lies in this country’s eastern regions, and the Ardennes plateau dominates its north. The world’s only independent Grand Duchy is what small country located between Germany, Belgium, and France? 

ANSWER: Luxembourg
5.
THIS IS A 10-SECOND COMPUTATION QUESTION.  If a set of numbers has 5 elements, then how many subsets would it have? 


ANSWER:  32 (that is 25)

6.
He was criticized for allegedly ordering police brutality in the wake of the MLK assassination and at the 1968 Democratic convention. Between 1955 and 1976, what man was Chairman of Cook County’s Democratic Committee and Mayor of Chicago?

ANSWER: Richard J. Daley (DO NOT accept Richard M. Daley)

7.
In addition to forming baleen plates, the beta class of this protein family makes up reptile scales and bird beaks. What protein family’s alpha class is seen in mammals and forms claws and hair? 

ANSWER: keratin (NOT ‘carotene’)

8.
This eleven-letter verb comes from the name of a Muslim cult that sought to kill Crusaders. What word means to kill someone, especially for political purposes? 

ANSWER: assassinate
9.
It was first held between 7:30pm and 8:30pm in 2007 by the city of Sydney, Australia. Google reversed its color scheme on March 29 to support what event where people turned off their lights for 60 minutes? 


ANSWER: Earth Hour
10.
First described in 1935, it describes the quantum mechanics principle of superposition, where a definite state only exists at the exact moment of measurement. What thought experiment involves an animal that is simultaneously alive and dead? 

ANSWER: Schrodinger’s cat
11.
This work, published annually for 27 years, was supposedly the product of one Mr. Saunders and his wife Bridget. Proverbs such as ‘A penny saved is a penny earned’ appeared next to astronomical information in what annual work by Benjamin Franklin?

ANSWER: Poor Richard’s Almanac
12.
4000 buildings in this style were built in Tel Aviv after the 1930s. Ludwig Mies van der Rohe was this school’s last director when the Nazis shut it down in 1933. Walter Gropius was the founder of what architectural school whose name means ‘House of Building?’


ANSWER: Bauhaus
13.
This substance forms at around 1400 degrees Celsius, and is the reason candles and wood give off a yellow flame. What dark powder, made from amorphous carbon, accumulates when fuel is not completely burned?

ANSWER: soot or lamp black or carbon black
14.
This country’s former presidents, Enrique Bolaños and Arnoldo Alemán, were engaged in a feud. This ultimately led to the election of Daniel Ortega as President of what Central American country that in the 1980s saw fighting between the Sandanistas and Contras? 

ANSWER: Nicaragua
15.
This sea was known in ancient time as the ‘Archipelago’ due to its large number of islands. It contains the Dodecanese and the islands of Samothrace, Imbros, Chios, and Lesbos. What sea is located between Turkey and Greece? 

ANSWER: Aegean Sea 
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Dik and Chris Brown created what Viking whose wife is Helga?


ANSWER: Hägar the Horrible
1B.
This six-letter adjective describes someone who is very happy and gets its origin from the ruler of the Roman gods. 

ANSWER: jovial
2A.
Ferns are diploid sporophytes. What free-living, haploid structure enables ferns to reproduce?


ANSWER: gametophyte(s)

2B.
Who resigned as President of Pakistan in August 2008? 


ANSWER: Pervez Musharraf
3A.
What railroad magnate hammered the golden spike at Promontory Point and then founded a university after the death of his only son? 

ANSWER: Leland Stanford
3B.
What is the largest moon in the Solar System? 


ANSWER: Ganymede
4A.
In what Nathaniel Hawthorne short story does the Reverend Hopper begin wearing a mysterious new accessory? 

ANSWER: ‘The Minister’s Black Veil’

4B.
Who was the first President of the American Federation of Labor?

 
ANSWER: Samuel Gompers
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.   Write the solution to the following problem in scientific notation:  divide the quantity 6.3 times 10 to the negative fourth by the quantity 9 times 10 to the negative eighth power.  (6.3 X 10-4)/(9 X 10-8)

ANSWER:  7.0 x 103

5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  One hundred gallons of a 30 percent antifreeze solution is added to 900 gallons of a 50 percent solution.  Find the percentage of antifreeze in the final solution.  


ANSWER:  48%
6A.
Who does Elizabeth Bennet marry towards the end of Pride and Prejudice? 


ANSWER: Fitzwilliam Darcy (accept either)

6B.
Victoria was the last British monarch of what dynasty?


ANSWER: Hanover
7A.
What Roman emperor erected a column to celebrate his victory over and conquest of the Dacians, and extended the empire to its greatest territorial extent? 


ANSWER: Trajan
7B.
What German composer emigrated to England and wrote Odes for the Birthday of Queen Anne and for St. Cecilia’s Day? 


ANSWER: Georg(e) Friedrich (or Frederick) Handel
8A.
What early Italian Renaissance artist sculpted the statue Judith and Holofernes and a bronze David wearing a laurel hat?

ANSWER: Donatello
8B.
Give the second person singular of the future indicative for the Spanish verb, hablar. (ah-BLAR).


ANSWER: hablarás (ah-blah-RAHS)

9A.
A species gains electrons in what chemical half-reaction that cannot occur independently? 


ANSWER: reduction (accept word forms, do not accept ‘redox’)

9B.
How many orbitals can fit into an ‘f’ sub-shell?

ANSWER: seven
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION. Convert the base 60 number 247 into a decimal number.


ANSWER: 7,447
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION. Two circles have a combined area of 125pi square centimeters and a combined circumference of 30 pi centimeters. What are the radii of the two circles? 

ANSWER:  5 cm and 10 cm

Third period, 15 toss-ups, 10 points each

1.
He was restrained with the entrails of his son Narfi. With the giantess Angrboda, he had three children: Hel, the ruler of the dead, the Fenris wolf, and the world-serpent Jormungard. Who helped murder Balder and was in Norse mythology the god of fraud?

ANSWER: Loki
2.
Some of them are gods, such as Izanagi and Amateratsu. Most of them, though, are merely spirits of trees, rocks, or other objects. Emperor Hirohito had to declare he was not a manifest one in 1946. What are these spirits worshipped in Shinto? 


ANSWER: kami (DO NOT accept ‘gods’ or ‘spirits’)
3.
This poet died in November 1953 from ‘chronic alcohol poisoning’ during the run of his play Under Milk Wood. Who was this author of A Child’s Christmas in Wales and the poem, ‘Do not go gentle into that good night?’ 


ANSWER: Dylan Thomas
4.
This compound’s five varieties all have a ring around a magnesium ion. Found mostly in thylakoids, its name comes from Greek words meaning ‘green’ and ‘leaf.’ What compound in plants allows photosynthesis? 

ANSWER: chlorophyll
5.
This battle’s losing army had just fought the Battle of Stamford Bridge and had marched hard from York to East Sussex. Harold Godwinson was killed and replaced as King by William the Conqueror at what battle fought in 1066? 

ANSWER: Battle of Hastings
6.
The first of this epic’s fifteen books contains a description of the four Ages of Man. The last contains the deification of Caesar. What story of the world’s creation was written in 9 AD by Ovid? 

ANSWER: Metamorphoses
7.
This currency traces its origins to King Offa of Mercia. It was decimalized in 1972, changing value from 12 shillings to 100 new pence. What is this unit of currency in the United Kingdom? 

ANSWER: British pound sterling

8.
This book has a sequel, Savage Sam. In this book, the two Coates boys, Travis and Arliss, adopt the title character. What book ends with the title character catching rabies, and then Travis having to shoot the title character, a Mountain Cur dog? 

ANSWER: Old Yeller
9.
This band disbanded after the album ¡Adios Amigos! and playing 1996’s Lollapalooza. Other albums included the Rocket to Russia and Rock ‘n’ Roll High School. What band’s members, none of whom were related, included Johnny, Dee Dee, and Joey? 

ANSWER: the Ramones
10.
These annelids all have 34 segments, and come in jawed, jawless, and worm varieties. Its saliva contains an anti-coagulant which enables it to drink more blood. What creatures still have some use in medicinal bloodletting? 

ANSWER: leech(es) 

11.
The margin of a book was too small for this theorem’s ‘truly marvelous proof,’ so it took 300 years and Andrew Wiles to prove it. What theorem states that the Pythagorean theorem cannot be true for powers greater than two? 


ANSWER: Fermat’s last theorem

12.
The country hosting this event hosts the Confederations Cup the year before. Jules Rimet convinced teams from the United Kingdom to start playing in 1950. One for women started in 1991. In 2010, South Africa will host what international soccer championship? 

ANSWER: (men’s) soccer World Cup
13.
He proposed the existence of the neutrino and also proved that fermions have half-integer spins. Who is best known for discovering that no two electrons can have the same quantum state, a statement known as his exclusion principle? 

ANSWER: Wolfgang Pauli
14.
Much the this novel is narrated by Claudia MacTeer. Other characters include the fraudulent mystic Soaphead Church and the mulatto Maureen Peal. In what Toni Morrison novel does Pecola Breedlove wish to have more Caucasian features? 

ANSWER: The Bluest Eye
15.
In its aftermath, Captain Thomas Preston was acquitted of all charges and defense lawyer John Adams had two privates’ sentences reduced to manslaughter. Crispus Attucks and four other civilians died at what March 1770 incident? 


ANSWER: Boston Massacre 

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Freud thought it was a mixture of the father figure and cultural mores (moh-RAYZ), standing as one’s conscience. What part of the psyche is regulated by the ego and stands in direct oppositions to the id?

ANSWER: superego (DO NOT accept ego)

2.
On the earliest keyboards, this key allowed the user to enter in ASCII codes less than 32.  When pressed along with ‘C’ in UNIX, it stops an ongoing task. What key can be pressed along with the ‘Alt’ and ‘Delete’ keys to reboot a Windows computer? 

ANSWER: Control key

3.
Along with Lennox, this Thane of Fife discovered the dead body of King Duncan. He and Duncan’s son, Malcolm, then raised an army. After declaring that he ‘was from his mother’s womb untimely ripp’d,’ what Scottish thane killed Macbeth? 

ANSWER: Macduff
4.
This set of violin concertos were originally part of a set of twelve called The Contest of Harmony and Invention. Read with sonnets meant to evoke weather-based imagery, what are these works by Antonio Vivaldi whose first is La primavera, or Spring? 


ANSWER: The Four Seasons
5.
THIS IS A 10-SECOND COMPUTATION QUESTION.   Give your answer in square meters. The two bases of a trapezoid are six centimeters and 4 centimeters.  If its height is one meter, what is its area? 

ANSWER:  0.05 square meters 
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